
 בס"ד
 

 1חשבון אינפי 

 פתרון - 11תרגיל 

 גזרו את הפונקציות הבאות .1
 

א. 
2 2 2 2 2

2 2 2 2 2 2 2

1 1 1 2 (1 ) 2 (1 ) 1 1 4
'

1 2 1 (1 ) 2 1 (1 )

x x x x x x x x

x x x x x

      
  

     
 

 

ב.  ln ln 1
'

2 ln

x xe e
x x

 

ג. 
1

1 1sin sin1ln ln

2 2

sin sin 1 sin cos 1
' ' ' ln

sin

xx x
x x

xx xx x x x
e e

x x x x x x x

   
   
   

                                          

 

ד. 
11 1 1

ln2
ln 2 2

2

ln 2
2 ' ' ' 2

2

x
x x xe e

x

       
                 

 

ה.  
 

 

sin ' , 0 sin cos , 0
| | sin '

sin ' 0 sin cos 0

x x x x x x x
x x

x x x x x x x

   
  

     
 

 ו.  xxy
1

ln

12  

     

    

 

   
1

ln

1 1
ln ln ln 2 1 ln ln 2 1

2

1
ln ln ln 2 1

2

1 1 2
ln 2 1 ln

2 2 1

1 ln
2 1 ln 2 1

2 2 1

x

y x x x
x

y x x

y
x x

y x x

x
y x x

x x

     

    

  
    

 

 
      

 

 

 
 
 

 

 
 



 בס"ד
 

  נתון: .2
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נחשב את הנגזרת של  xf  0בנקודהx 0. לפי הגדרת הנגזרת לכלb : נקבל 
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